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[[EXiva K £ NET HDCP TOTAL ouUT I N OUT NET Bz K % NET HDCP TOTAL ouT I'N OUT NET
& B E# X 12 17 89 ( 43 46 ) 345 B B R RE 70 10 80 (39 41 ) 340
21 MHE —& 74 9 83 (45 38 ) 405 27 ME % 75 14 89 (44 45 ) 370
3 BE AR 74 27 101 ( 55 46 ) 415 3 A7E EA 75 13 88 ( 45 43 ) 385
A BA R 75 17 92 (47 45 ) 385 ART  BEE i 76 15 91 (45 46 ) 375
BRI A A 75 8 83 (44 39 ) 400 5 EH B 76 7 83 (42 41 ) 385
6f Bz EAI 77 21 98 (52 46 ) 415 6h1  sthpy =— 77 16 93 (46 47 ) 380
76 FA BE /8 25 103 ( 50 53 ) 375 TR ARIR B 77 16 93 (47 46 ) 390
86 A0 EXH 79 5 84 (43 41 ) 405 8T N = 78 6 84 (40 44 ) 370
9k B BE 79 10 89 (46 43 ) 410 o  —& B 78 15 93 (46 47 ) 385
1060 FRHA BAZ 79 14 93 (48 45 ) 410 1062 3t 5 78 21 99 (53 46 ) 425
1660 LA skt 82 16 98 (48 50 ) 400 1660 RN HA 82 17 99 (50 49 ) 415
200 3R R 84 22 106 (51 55 ) 400 20 HAK M5E 84 17 101 ( 50 51 ) 415
30y &4 =7 86 27 113 ( 55 58 ) 415 304 O A 86 10 96 ( 50 46 ) 450
4007 P FE 90 18 108 ( 50 58 ) 410
50fy @3 1% 93 18 111 (58 53 ) 490

BBE &I BE—ER 94 16 110 (53 57 ) 450 BBE KB =B 92 18 110 (55 55 ) 460
BGE AR REX 80 (39 41 ) Par 72 J—AL—F  RO—TFL—b

BiE(E) 6606 yard 713 128

Bi(8H) 6,237  yard 69.5 123

BEiE(£) 5892  yard 68.1 119

BiE(%) 5281  yard 64.9 114

(%) 5281  yard 70.1 123

LK) 4878  yard 67.8 119




